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Al B2 A Disposable Income
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Disposable income is the income that can be deployed after deducting
directtaxes from gross income.

¥Rk B LB % Expansionary Fiscal Policy
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Expansionary fiscal policy refers to the government increasing real
output by increasing expenditure or reducing revenue.
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ARBE (1)~ (Q)
B.RAE (1))
C.RE (2)~(3)
D.(1)~ (2) & (3)
1. The Russo-Ukrainian War results in a significant increase in price level

and decrease in real output level of England. Which of the following
policies can most relieve the above two problems?

(1) Attract overseas talents.
(2) Provides substitutes to industries that are adversely affected.
(3) Decrease the profit tax rate.

A (1) and (2) only
B. (1)
C. (2)and (3) only
D. (1), 2)and (3)
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